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Answer any two questions from part A and one question from part B. Good luck!
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PART A Marks 0 RBT
1 Draw the shear force diagram and bending moment diagram for the
beam shown in fig. 1. [20]
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2 Draw the shear force diagram and bending moment diagram for the

beam shown in fig. 2 indicating the principal values. [20]
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3 Anelement is subjected to stress conditions as shown in fig. 3. Find:
i) Normal stress, tangential stress and resultant stress acting on the
inclined plane.
i) Angle of obliquity.
i) Maximum and minimum normal stress and their locations.
iv) Maximum and minimum shear stress and their locations.
v) Verify above answers by Mohr’s circle method.
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PART B

4  An element is subjected to stress conditions as shown in fig. 4. Using

Mohr’s circle method find: [10]
)] Normal stress, tangential stress and resultant stress acting on
the inclined plane.
i) Maximum and minimum principal stress and their locations.

iii) Maximum and minimum shear stress and their locations.
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An element is subjected to stress conditions as shown in fig. 5. Find [10]
analytically:
i) Maximum and minimum normal stress and their locations.
i) Maximum and minimum shear stress and their locations.
iii) Normal stress acting on shear stress plane.
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